

$$(z, s) \in (\text{PROX})^* \Rightarrow$$

- $z \in X + \{f(x) - s\} \mathcal{A}(x)$: has unique solution (say \bar{z})
- $P_C(z, s) = (\bar{z}, \bar{s})$

Proofs: $(\bar{z}, \bar{s}) = P_C(z, s) \Leftrightarrow (\bar{z}, \bar{s}) = \underset{s \in S}{\text{argmin}} \left\{ \frac{1}{2} \| (z, s) - (x, s) \|^2 = \frac{1}{2} \| z - x - (f(x) - s) \|^2 = \frac{1}{2} \| z - x - f(x) + s \|^2 = \frac{1}{2} \| z - x - f(x) + s \|^2 \right\}$

if we apply KKT condition, then

$$\text{primal feasibility: } f(\bar{x}) \leq s$$

$$\text{dual feasibility: } \bar{v} \geq 0$$

$$\text{complementary slackness: } \bar{v}(f(\bar{x}) - s) = 0$$

$$\text{minimizer of the Lagrangian: } \nabla_{(x, s)} L(\bar{x}, \bar{s}, \bar{v}) = 0$$

$$\begin{pmatrix} \frac{\partial}{\partial x} \\ \frac{\partial}{\partial s} \end{pmatrix} \left(\frac{1}{2} \| z - x - f(x) + s \|^2 + \bar{v}(f(x) - s) \right) = \begin{pmatrix} \bar{z} - z + \bar{v} \mathcal{A}(\bar{x}) \\ \bar{s} - s - \bar{v} \end{pmatrix} = \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$\bar{z} - z + \bar{v} \mathcal{A}(\bar{x}) \geq 0, \bar{s} - s - \bar{v} = 0$$

assume, $\bar{v} = 0 \Rightarrow \bar{z} = z, \bar{s} = s \Leftrightarrow (z, s) \in \mathcal{C} \Rightarrow$ contradiction $\Rightarrow \bar{v} \neq 0 \Rightarrow \bar{v} > 0 \Rightarrow$ then using complementary slackness: $f(\bar{x}) - s = 0 \Leftrightarrow \bar{s} = f(\bar{x}), \bar{v} = f(\bar{x}) - s$

$$\bar{z} - \bar{x} \in \bar{v} \mathcal{A}(\bar{x}) = (f(\bar{x}) - s) \mathcal{A}(\bar{x})$$

$$\Leftrightarrow \bar{z} \in \bar{x} + (f(\bar{x}) - s) \mathcal{A}(\bar{x}) \Rightarrow \text{now } \bar{z}: \text{unique as the Lagrangian is strongly convex in } z$$

$$\therefore P_C(z, s) = (\bar{z}, \bar{s}) = (\bar{z}, f(\bar{x})) \text{ solves } z \in X + \{f(x) - s\} \mathcal{A}(x) \text{ uniquely}$$

Proposition 28.30: $[S: \mathcal{H} \rightarrow \mathcal{H}, \text{convex, continuous}, z \in \mathcal{C}, \{f(x) - s\} \mathcal{A}(x) \mid s \in C = \text{PROX}_S S] \Rightarrow$

$\bullet f(\text{prox}_{\mathcal{A}} z) = s$: has atleast one solution in \mathcal{H}_+ , say \bar{v}

variable

$$\bullet P_C z = \text{prox}_{\mathcal{A}} z$$

Proof: Take $z \in \mathcal{C}$, as objective is convex, continuous, $P_C z = z$. Initial: say $\bar{z} = P_C z$

By definition, $P_C z = \underset{s \in S}{\text{argmin}} \left\{ \frac{1}{2} \| z - z \|^2 \right\}$

KKT conditions: For primal-dual pair $(\bar{x}, \bar{v}) = (P_C z, \bar{v})$

$$\text{Primal feasibility: } f(\bar{x}) \leq s$$

$$\text{Dual feasibility: } \bar{v} \geq 0$$

$$\text{complementary slackness: } \bar{v}(f(\bar{x}) - s) = 0$$

$$\text{Vanishing gradient of the Lagrangian: } \nabla_{(x, s)} L(\bar{x}, \bar{s}, \bar{v}) = 0$$

$$\bar{z} - \bar{x} + \bar{v} \mathcal{A}(\bar{x}) \geq 0 \Rightarrow \text{there is atleast one solution}$$

$$\text{suppose } \bar{v} = 0 \Rightarrow \bar{z} = \bar{x} \Rightarrow \text{contradiction} \therefore \bar{v} > 0 \Rightarrow f(\bar{x}) = f(P_C z) = s$$

$$\bar{z} - \bar{x} + \bar{v} \mathcal{A}(\bar{x}) \geq 0$$

$$\Leftrightarrow \bar{v} \mathcal{A}(\bar{x}) \ni \bar{z} - \bar{x} \Leftrightarrow \exists (\bar{v} f(\bar{x})) \ni \bar{z} - \bar{x} \parallel x \in \mathcal{A}(x) \Leftrightarrow P_C z = \text{prox}_{\mathcal{A}} z$$

$$\bar{x} = \text{prox}_{\mathcal{A}} z = P_C z$$

// the primal variable has been written in terms of the dual variable

$$f(\bar{x}) = f(P_C z) = f(\text{prox}_{\mathcal{A}} z) = s \dots \bullet f(\text{prox}_{\mathcal{A}} z) = s \dots \text{which have atleast one solution in } \mathcal{H}_+, \text{ and if } \bar{v} \text{ is such a solution then } \bar{z} = \text{prox}_{\mathcal{A}} z$$